3.3 Homework # 2,-8 even,11, 14, 24, 25, 26, 28

Use the Converse of the Corresponding Angles Postulate P q

and the given information to show that p || 4.
1. £d= 25 B sl .
2. ms1 = (4x+ 16)°, ms8 = (52— 12)°, x =28 a3 5(6
3. ms4 = (6x— 19)°, ms5=(3x+ 14)°, x= 11
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Use the theorems and given information to show that r || s.
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7. mz4=(13x—4)°, ms8 = (9x+ 16)°, x=5
8 ms8=(17x+37), ms7=(9x-13)°, x=6
Q 9. m/2=(25x+ 7)°, ms6 = (24x+ 12)°, x =5 72 ,
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11. Architecture In the fire escape, ' N TIETT
mz1 = (17x+9)°, mz2 = (14x + 18)°, e
and x = 3. Show that the two landings e =
are parallel.
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PRACTICE AND PROBLEM SOLVING

Use the Converse of the Corresponding Angles Postulate
and the given information to show that £ || m.

12. /327

13. mZ4=54°ms8=(7x+5)", x=7

14, mz2 = (8x+ 4)°, ms6 = (11x - 41)°, x = 15 2 COr, X5
15. mZ1 = (3x+ 19)°, ms5=(4x+ 7)°, x=12
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Name the postulate or theorem that proves that £ || m. /
24 /8= /6 250 /8 =14 - 2‘ 78 )
26. /2=/6 27. £7=/45 3/6
- »m
28. /3= /7 29. m/2 + m/3 = 180° :/ 5
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25) If. alt. &%k X5 2o || Lnes
26)IF ot int, X5 2 > || Lwnes
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